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(3)/kEA L FEE(W/C) m = -12.06 + 24.86 X C/W
W/C = 24.86 + (33.8 + 12.06) X 100 = 54.0 %
W/C = 54.0 %
(4) Bk E (W) VWTHOFEREICEY W = 174 ke/md
(5)HfIE AL F&E(C) C =W = (W/C) X 100 = 174 = 54.0 X 100 = 322 kg/m
Cv= C + #Pf = 322 +~ 3.04 = 106 £ /mi
(6) %558 (A) A = 4.5 % X 1000 = 45 £ /m
(7)MEM=E(s/a) VTHOERIZEY s/a = 48.6 %
(8)HNHIEME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 675 X 48.6 % = 328 ¢ /m
S = Sv X KEEE = 328 X 2.62 = 859  kg/mi
SI1 = S X 50.0 % = 430 ke/m
S2 =S X 50.0 % = 429 kg/m
(9) HALHEM £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 653 = 347 £ /m
G = Gv X R = 347 X 2.74 = 951 kg/m
(10) BN FnAlE (Ad) Ad = 2.51 keg/m
i A& £ ke /mi
. = S} ] B [z L =1 iz % i vl
A
Mo e X oo le 0ol la 0 o0
322 — — 174 | 430 | 429 — | 951 — — — 2.51 — —
P= VEL/N\ o A2, . .
KEAT M| 510%| M B M k| as.6%| HRDIEAEHD@ o 50.0:50.0

1+




